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 13. An uncharged 220 ȝF capacitor is connected in a circuit as shown.

�� V
S1

S2

6800 Ω

6800 Ω

220 ȝF

7KH �� V EDWWHU\ KDV QHJOLJLEOH LQWHUQDO UHVLVWDQFH�

(a) Switch S1 is closed and the capacitor charges in a time of 7·5 s.

Calculate the initial charging current.

Space for working and answer

(b) Switch S1 is opened. 

The capacitor is discharged. 

Switch S2 is now closed and then switch S1 is closed.

Explain why the time for the capacitor to fully charge is less than in 
part (a).
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